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Q.1 {A) Define Mean, Median and Mode with their formulas. (7)
(B) From the given frequency distribution, calculate Mean, Median and  (10)
Mode. -
Class : 0-10110-20|20-30(30-40|40-50|50-60[60-70
Frequency 04 08 12 20 24 15 o7
OR
Q.1 (A) Define primary data and secondary data. Explain any one method of (7
collecting the primary data.
{B) From the given frequency distribution, find the Mean and co-efficient (10}

Q.3

Q.3

of variation.

Class : 80-90 {90-100[100-110[110-120[120-130|130-140]140-150{150-160|160-170

Freguency| 06 18 78 80 100 72 30 10 06
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(8)
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What is correlation? Explain. Also explain the types of cdrrelation. '
If n =8, Tx = 56, Ty = 40, = = 524, Ty* = 256 and Ixy = 364, then
obtain the regression line equation of y on x and the regression line
equation of x on y. Also calculate the value of r.
OR

Explain the meaning of regression and alsc write properties of
regression co-efficient.
From the given data, calculate the correlation co-efficient between x
andy.

X 1210 1200 | 220 | 120 | 180 | 240 | 230 | 170 | 160

y 160162 | 50|67 ]|55142]|49 |61 |59

Explain Statistical Quality Controf and control limits.
From the given data calculate Lashpayer's Index number, Passche's
Index number and Fisher's Index number.
Base Year Current Year

Price | Quantity | Price | Quantity
80 30 90 30
100 05 120 08
300 01 500 01

50 04 60 05
140 05 170 08

CR

Explain the definition and meaning of time series analysis with its
importance and limitations.

Comodities

moom>

From the given data, prepare X and R charts and give your:

conclusion about production process.

Sample No.: | 1 2 31 4 5 6 7 8 9 110

Mean (X) | 252 | 248 | 250 | 246 | 243 | 288 | 254 | 247 | 256 | 240

Range (R) | 26 | 30 | 20 | 04 | 08 | 10 | 15 | 02 | 08 | 04

(n=5,A;=058, D4 =212, D3 = 0).
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Define and explain Mathematical probabitity with formula. If A and B
are independent events, then prove that A' and B' are also
independent.
A basket contains 5 red and 3 white balls. Two balls are selected at
random from it, then find the probabilities that, (i) both are red, (ii)
both are white (iii} both are of different colours.

OR
Define and explain Poission Distribution. Write down any five
propetties of Normal Distribution.
For a Binomial Distribution, n =5 and p(x = 2) = 0.2048 and p{x = 3} =
0.05612, then obtain mean and variance of Binomial distribution.

(10)
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